3 Al

4,424,925

ool e RS2
27,935,720 24,514,368 3,421,352
= 22,674,569
Al 4,035,723
- 1,225,428
24,827,584 22,105,800 2,721,784
= 22,163,524
Al 1,856,308
- 807,752
ZME 22,169,107 19,250,832 2,918,275
= 19,950,376
Al 1,552,051
- 666,680
16,167,421 14,390,412 1,777,009
= 14,550,679
Al 1,131,719
- 485,023
AL A Z 16,167,421 0 16,167,421
= 14,550,679
Al 1,131,719
- 485,023
16,167,421 0 16,167,421
16,167,421
= 14,550,679
Al 1,131,719
- 485,023
4,472,925 4,014,883 458,042
= 4,025,632
Al 313,105
- 134,188
dutB A3 4,424,925 0 4,424,925
= 3,982,432
Al 309,745
- 132,748
4,424,925 0 4,424,925




SN EOIMB A D
o HAS
(u)

el RPDIZMBBEL2X NBAL Rk
SN HB G (BH) - MRAY - BES 0l & B Hlm= 2
Oil &k o8
2 3,982,432
Al 309,745
- 132,748
401 Al &BIZ20HYI 48,000 0 48,000
= 43,200
Al 3,360
2 1,440
01 Al&HI 48,000 0 48,000
F=HEES0 (==X 48,000
= 43,200
Al 3,360
- 1,440
mE=F=10| 852,281 706,024 146,257
= 767,053
Al 59,660
- 25,568
301 otEa=z 852,281 0 852,281
= 767,053
Al 59,660
- 25,568
01 ASIE2EE=0H3 852,281 0 852,281
OuS= ¢ (LB==Xt) 852,281
= 767,053
Al 59,660
- 25,568
ol &t E = 74,651 94,562 219,911
= 67,185
Al 5,226
- 2,240
301 YBtEaz 74,651 94,562 A 19,911
= 67,185
Al 5,226
- 2,240
01 A3IE2EE =63 74,651 94,562 219,911
Odfiat - HH=™ 74,651
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AN FRMEXA D
HH: YASS MEOH XS
el RPDIZMBBEL2X NBAL (29 &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
MNASESE UK EXR (L)AL Al 1,334
- 572
301 ptEasg 19,053 0 19,053
= 17,147
Al 1,334
7 572
01 AIE2EHE =63 19,053 0 19,053
OMASEE HUXIEZZ(Fo0He!) 19,053
= 17,147
Al 1,334
T 572
MASE NENIANMNG 2,623,077 2,841,643 A218,566
= 2,213,148
Al 287,757
- 122,172
gz 1,726,530 1,892,354 N 165,824
= 1,553,877
Al 120,857
- 51,796
301 ptEas 1,089,159 1,892,054 A 832,895
= 953,243
Al 74,141
- 31,775
01 A2EHE =63 1,059,159 1,892,054 A 832,895
OXE22AIYEX 1,059, 159
= 953,243
Al 74,141
T 31,775
307 gl2told 667,371 0 667,371
= 600,634
Al 46,716
- 20,021
05 GIZtREZ 667,371 0 667,371
OXEZZASIE2H I 667,371
= 600,634




AN FRMEXA D
B HASS MUY X
o9l HASE T XA (ol a e
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
Al 46,716
T 20,021
EASSH 198,890 176,988 21,902
= 179,001
Al 13,922
- 5,967
301 utEazs 198,890 176,988 21,902
= 179,001
Al 13,922
7 5,967
01 A2HA=53 198,890 176,988 21,902
OX&ASZEN 198,890
= 179,001
Al 13,922
- 5,967
NS A&de X 225,404 215,173 10,231
= 157,782
Al 67,622
307 QI2t0IA 225,404 215,173 10,231
= 157,782
Al 67,622
02 2AAEX 225,404 215,173 10,231
OXg ey s 29 XN& 225,404
= 157,782
Al 67,622
NETHEEHEA=S X = 16,320 14,400 1,920
Al 16,320
307 glz2told 16,320 14,400 1,920
Al 16,320
02 QtFAE X 16,320 14,400 1,920
OXNG e AS K 16,320
Al 16,320
JtAIE 22 =20 428,263 514,800 A 86,537
= 299,785
Al 64,239




AN FRMEXA D
HH: YASS MEON X8
©9: HASS UEIAL (S5 &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
JtAZtE S 2 =<0 - 64,239
307 QIZt0IA 428,263 514,800 A 86,537
= 299,785
Al 64,239
= 64,239
05 CIZtREZ 428,263 0 428,263
OJtAIREEZE 20| 428,263
= 299,785
Al 64,239
- 64,239
MIHZSEZZ]H 5,670 5,928 A 258
= 5,103
Al 397
- 170
301 Lptsazg 5,670 5,928 A258
= 5,108
Al 397
= 170
01 A2 H=x0l3 5,670 5,928 A 258
OMIIHST2 N (MHEZZ= I E O AHA
Hl) 5,670
- 5,103
Al 397
- 170
MIHSEZZHMAIDIZ 2| 22,000 22,000 0
= 17,600
Al 4,400
307 QI2t0IA 22,000 22,000 0
= 17,600
Al 4,400
02 AHAEX 22,000 22,000 0
OMSIHSE2 IBAAI 22| 22,000
= 17,600
Al 4,400
SEEIM2E XA 2,400 13,325 210,925
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SN FOMET R
BH: FHAHE 25 U
el HAS U RS NRAY (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
a2 HE S| 16,500 9,200 7,300
Al 16,500
301 et AS3 16,500 9,200 7,300
Al 16,500
01 A& E 0= 16,500 9,200 7,300
OXAAAHS ESU Y| 16,500
Al 16,500
AAAAHS NsHAS 10,160 7,760 2,400
Al 10, 160
301 Letg8Aa= 10, 160 7,760 2,400
Al 10,160
01 A E&EE56= 10,160 7,760 2,400
OXNAKAANE N2 10, 160
Al 10,160
FANS SSHAY| 27,650 27,950 A 300
Al 27,650
301 dE8BAMZ 27,650 27,950 A 300
Al 27,650
01 MIBEHHHZ2 27,650 27,950 A 300
OFAHES S| 27,650
Al 27,650
FAAHNE nddd2 363,680 337,520 26,160
Al 363,680
301 Et8A= 363,680 337,520 26,160
Al 363,680
01 A E&EE56= 363,680 337,520 26, 160
OFAHES A2 363,680
Al 363,680
22=XX 3 136,681 239,986 A 103,305
= 109, 345
Al 13,668
- 13,668
307 QI2tolA 136,681 239,986 A 103,305
= 109, 345




AN =M 0
BH: FHAHE 25 U
el HAS U RS NRAY (S92l ®el)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
307 2IZ2t0lA Al 13,668
= 13,668
01 g2 =H| 136,681 239,986 A 103,305
O2A==RX& 136,681
= 109,345
Al 13,668
- 13,668
KN SALS Al A S AALY 543,000 893, 162 A350, 162
= 380, 100
Al 144,900
- 18,000
KNSHES H ALY 290,000 412,842 AN 122,842
= 203,000
Al 87,000
307 glz2told 290,000 412,842 A122,842
= 203,000
Al 87,000
05 QIZtEZ 290,000 412,842 AN 122,842
OXNGHEE HRH™HAMY 290,000
= 203,000
Al 87,000
ZAHeE HISHAS 133,000 192,320 A59,320
= 93,100
Al 39,900
307 giz2tol™ 133,000 192,320 59,320
= 93,100
Al 39,900
05 BIZtRIE S 133,000 192,320 A59,320
OZIMHLE HIR™HAMY 133,000
= 93,100
Al 39,900
JI=OHEE Bt HAS 120,000 288,000 168,000
= 84,000
Al 18,000
- 18,000




S OISR Dt
o FoE 25 ¥ X
Sl XISIARSIATHIA S ALY (£49: & 2)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
307 2I2H0IH 120,000 288,000 £168,000
= 84,000
Al 18,000
2 18,000
05 SItIErZ 120,000 288,000 168,000
OJNENLE B2 AL 120,000
= 84,000
Al 18,000
= 18,000
ZOISR AHIAAY 1,101,446 11,950 1,089,496
Al 948,896
2 152,550
MEIAQH A =& 5,100 4,100 1,000
201 Y2yl 5,100 4,100 1,000
01 ARzl 5,100 4,100 1,000
ONHBIAGIHAN R ER2 RIXS 3,000
-E82 23 1,000
-z S 2,000
OMSI=XEAN HESBAH slQAFS4Y
70,0002 *15% +23] 2,100
SEAY 450 350 100
201 Y2yl 450 350 100
03 A2 450 350 100
O4.19% 2 AtH| 450
AU X2 FERY
150, 00021 %14} 150
-NEBIN RESZS
300,00021 * 13/ +12] 300
OIS0I2 =3EANE 2% 3,000 2,500 500
201 Y2yl 3,000 2,500 500
03 A2 3,000 2,500 500
OOtELI2 =3l=NE 29
3,000,0002! +12] 3,000
Z0IME A E T AL 5,000 5,000 0
203 Y= 5,000 5,000 0
CIREEREEESS 5,000 5,000 0
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2N
_77_<_

X| ZH -
S =

SR FOI=X MHIAAIY (&2 &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04

SEINEREEEEEE 4,000
OFoIMEXd ALEE 1,000

AN E X2 H| 943,656 0 943,656
Al 804,656
- 139,000

307 QI2tolA 664,656 0 664,656
Al 664,656

02 QUHBAEX 664,656 0 664,656
OAZ s X 22| 626,300
-S2dSEAIE S 2 346,500
Al 346,500
- EHZEEAIE S X2 279,800
Al 279,800
OAM3sXZ Sk 38,356
-2 SEAIE S 2 21,729
Al 21,729
-2 SEAMIS A2 16,627
Al 16,627

402 QIZ2EX =0l 279,000 0 279,000
Al 140,000
- 139,000

01 QIZX=2EXR 279,000 0 279,000
OLBZEHSNE JS2LMY 279,000
Al 140,000
- 139,000

IS X SAHHE 29| 142,240 0 142,240
Al 142,240

307 QIZtoIA 142,240 0 142,240
Al 142,240

02 oIzt AE X 142,240 0 142,240
OMIISX S AHAE 29| 130,000
-S8ESEAERN2 65,000
Al 65,000
-2 ESEAIE S 2 65,000




2N
_77_<_

e
Ha: Fou)E 25 2 A8
Crsl: ZEOI=X A BIA A (el @l
SA-E . S(E) - MEAY - BES 0 & 24 e SImE=ET
Al 65,000
OIS X BAMIE =X+ 12,240
-2 SEA= X2 6,120
Al 6,120
—gZEe A= X2 6,120
Al 6,120
J=ZEY3XA 2,000 0 2,000
Al 2,000
307 giz2tol & 2,000 0 2,000
Al 2,000
02 2I2tda=2x 2,000 0 2,000
OJNEZCWT 2oyl N 2,000
Al 2,000
FHOESAY 199,861 206,350 26,489
Al 197,361
- 2,500
SIS AL RS K 2,500 5,000 A2,500
301 ptEas 2,500 5,000 A2,500
01 A2 A 53 2,500 5,000 22,500
OS] HAALX ZHbI 500,000& x5 2,500
L=TES 197,361 201,350 A3,989
Al 197,361
307 g2iz2told 197,361 190,630 6,731
Al 197,361
02 fltFateEx 197,361 190,630 6,731
O==X&d 23l 188,298
Al 188,298
O==XEE 4| 9,063
Al 9,063
NEFN & BS2Z2AY 624,200 622,000 2,200
= 21,600
Al 456,600
T 146,000
SE2ZAY 580,000 582,000 22,000
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=01 M S K| A It
DE=X Y BZIZAY
DESFAY (£ &%)
_ _ _ Muo
N33 S2(3H) - MEAMY - BES Aol Ofl At ot Hws2
01 YerEAZ Al 21,600
01 ASBEH2HI 43,200 40,000 3,200
OXS AT = 2 & o 43,200
2 21,600
Al 21,600
HHSAHH (FUMS XD 65,758 52,690 13,068
29| 7,200 7,200 0
22| 7,200 7,200 0
203 Y= 7,200 7,200 0
IEEEEEEESTY 3,000 3,000 0
OFUMSNARY 3,000
04 RASYYRETY| 4,200 4,200 0
OFRA300! 0I5 350,00021 +122 4,200
2| 58,558 45,490 13,068
=2l 58,558 45,490 13,068
201 gr2g| 2,158 9,490 2,668
01 At 2teld| 12,158 9,490 2,668
O=AEX 1,940
— A 18,0002 %908t A 1,620
-84 25,000 %108t A 250
- A3 35,0008 %28t A 70
OEUZY| 3,150
— = A 66,000 »1CH*33] 198
- =8 133, 10021+ 1CH 23] 267
—BI0I M ZRIED) 75,0002 «4CH *33] 2,100
—2etmaEdl Y37
19,2002 544 »1CH +38] 288
—FAXD| 99,0004 *1CH+33] 297
SN2Y Jl=ag 10,0002 *19% * 122 2,280
OAZtel 22X 24|
7,0002 +341 %198« 128 4,783
202 o1l 45,600 36,000 9,600
01 =Uord 45,600 36,000 9,600
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